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Answer all ﬂve questmns
All questions carry equal malks

i Trace the paths of the ends of a straight line AB 100 mm long when it rolls without

mrcle y [15]
OR
2.a) Draw both branches of a hyperbola, given eccentricity as 3/2 and focus 40 mm from the
directrix. Mark the second directrix and focus. Draw the asymptotes and measure the
angle between them.
Construct a diagonal-scale of:. 1: .2:5. showing, centimeters and mlthmeters and ]ong

b) #

f-19+6] -

‘_ough to measure up to 20 centimeters Show 15, 4cm on it.

3.a)  The plan and elevation of a line AB 100 mm long are 75 mm and 80 mm, respectwely.
End A is on the HP and 20 mm in front of the VP. Draw the projections of the line and
determine its inclinations with both the planes.

b) A point P is 20 mm below HP and lies in the third quadrant. Its shortest distance from xy

IS 40 mm. Draw lts projectlons S e G ._.[12+3]

The plan of 4 45 éet square ABC=.w1th the side BE ‘on.the HP. and the sils AR/ the VP
is a triangle ABC. The side BC is 100 mm and perpendicular to xy. The angle BCA is
35°. Draw the plan and elevation of the set square and measure the inclination of the set
square with the HP. [15]

%, and has a base edoe on VP mc!med at 45 to I—IP Draw Its pI'O__]e__
6. A rlght crrcular cone of 40 mm dlameter of the base and 60 mm altltude stands on the
HP. A plane normal to the HP and inclined at 45" to the VP cuts the cone at a distance of
10 mm from its axis. Draw the sectional elevation and true shape of the section. [15]

Z. A square pyramid, side of base 40 mm and height 60 mi, stands on the HP with a base
+, edge-parallel to theVP. It is cut,by a'plane inclined at 45° to the HP, perpendwular to thel,
.V'P and blsectmg the ax1s Draw the deve]opment of truncated pyramld L ]

8. A horizontal cylinder of 50 mm diameter penetrates the vertical cylinder of 80 mm
diameter resting on the HP. The axis of the horizontal cylinder is parallel to both the HP
and VP and is 5 mm in front of the axis of the vertical cylinder. The axis of the horizontal
cylinder is 50 mm above the HP. Draw the plan and elevation of the cylinders showing

. the.curves of intersection.




9. Draw the isometric view of the following orthographic views as shown in Figure 1. All
the dimensions are in mm only. [15]
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10. Draw the front, top and both side views of the isometric view given in the figure 2. All
the dimensions are in mm only. [15]

Figure: 2

---00000---




